Ottawa 2 11/8" (167

5/16"x70 7/8")

3,

P

190417

r

Log Structures

Uo-It-Yourself Building Kits




Ottawa 2 11/8" (167 5/16"x70 7/8") mpregnated foundation beams

I\/\ark\ Type \ Profile \Length\Count

Foundation

IFB  |IFB 166 4
40X70 15/16"

Va4

V44

V474

vy

19/16" 213/8" 19/16" 213/8" 19/16" 213/8" 19/16"

190417




Ottawa 2 11/8" (167 5/16"x70 7/8")

Floor Plan

@ Baseboard

[y

g

1 1/8"63 15/16

. 52,1 ft? 30,1 ft?
3/16
A

Floor Schedule

11/8"

v

I\/\ark\ Type \ Profile \Count\Length

FB FB 18x110 39 681/2"

15/16"D

56 11/16"
104.1/8" "
V

3
-

337/16 JS 5/1{) ,

5915/16" 1 11/8"-315/16"
4”/}/

BB

190417




Ottawa 2 11/8" (167 5/16"x70 7/8") wal

Wall Profile |Count

28X57

28X57
28X57
28x114

28x114
28x114
28x114

Log Profile Wall 1
Profile \ Profile

28x57

28x114

o R s [ o [ s I o Y s s I s o e Y s I o s o N s o Y s v

=
e
I~
78]
C

56 11/16"

w
)

" " " 28x11
337/16 4V18 5/16 4V46315/16 X114

190417




Ottawa 2 11/8" (167 5/16"x70 7/8")

Wall 2

Wall 2

Profile | Count

Cut
Length

28X57

175 3/16"

28X114

175 3/16"

28X114

1831/16"

e I o s Y s I o Y o ) o Y s I e s I s s Y o [ s I s Y s Y o

190417

Log Profile Wall 2

Profile

\ Profile

28X57

28x114

28x114




Ottawa 2 11/8" (167 5/16"x70 7/8")

Wall A

aaad

190417

Wall A

Profile | Count

28X‘I‘|4

28X‘I‘|4_

28X‘I‘|4_

28X‘I‘|4

Log Profile Wall A

Profile \ Profile

28x114




Ottawa 2 11/8" (167 5/16"x70 7/8")

Wall B

190417

Wall B

Profile | Count

28X114

28X114

28X114

28X114

Log Profile Wall B

Profile \ Profile

28x114




Ottawa 2 11/8" (167 5/16"x70 7/8")

Wall C

190417

Wall C

Profile | Count

28x114

28x114

28x114

28x114

Log Profile Wall C

Profile \ Profile

28x114




\ProfHe\Count\Length

Type
RoofBoard

RFB |Beam

AAark\
RB

Y

/
U

AR

A A A A A A A A A A A

[ [ [f7 [ §J [ [f \\\

[ | o7 [\
/ [ 77 T ¥} T TF \\\
% \//>,/<{/§\

=

T
@ QNN Y Y \

L,

/
/
/
b
//
J/

J/

00
~
™~
O
[~
X
O
~
LN
™~
O
00
~
@\
>
Qv
-+
-+
O




Ottawa 2 11/8" (167 5/16"x70 7/8") asca sched

AAark\ Type \ Profile \Count\Length

Roof 2 (:) Facia

<:%:> <:i:> EE  |Eave Edging 2 89"

18X40
EE —

Roofing
sheet Roof

reinforcement
18X90

Roof
reinforcement
18X90

H”WW“WHHHHHHFFH{W

HHHLLHLHHHHHJHHJJﬂJ

Roof
reinforcement
(3) Roof Reinforcement 38x38

EE

[T TR

=- Roofing
Sheet

RR2




Ottawa 2 11/8" (167 5/16"x70 7/8")

Extras

Door Schedule

I\/\odel\ Type \ Width \ Height \Count

BDD1R |Basic double |561/8" |76 15/16" |1
door 1right

BD2R |Basicdoor2, (331/16" |7615/16"
wood right

DCB6 |Door crossbar
6

Fasteners/Extras

Name Comments Count

Hitblock [1113/16"-153/4"
Bolts M5/16" x 2 3/8"
Screws [3/16"x23/4" Type ‘Count‘ Length
Screws [1/4"x51/2"
Nails 1/16" x19/16" Windboard |4 86 5/8"
Screws 3/16"x19/16" 18X40
Screws |3/16" x 2"

190417

Windboard




Ottawa 2 11/8" (167 5/16"x70 7/8")

List of all items 1

Impregnated foundation beams Floor Schedule

AAark\ Type \ Profile \Length\Courﬁ AAark\ Type \ Profile \Courﬁ \Length

IFB |IFB 166 4 FB |FB18x110 39 681/2"
40X70 15/16"

Roof Fascia Schedule

AAark\ Type \ProfHe\(Zount\Length AAark\ Type \ Profile \Count\Length

RFB |Beam 1 183 EE |Eave Edging 2 89"
40X120 1/16" 18X40

RoofBoard 873/8"
18x110 -

Roof
reinforcement
18X90

Roof
reinforcement
18X90

Roof
reinforcement
38x38

190417




Ottawa 2 11/8" (167 5/16"x70 7/8")

List of all items 2

Wall1 Wall A

Cut
Profile |Count| Length Profile | Count

28x57 |1 18 5/16" 28x114
28X57 |1 283/4" 28x114
28x57 |1 38" 28x114
28x114 |17 18 5/16" 28x114 |16
28x114 |17 283/4"
28x114 |17 38" Wall B
28x114 |1 183 1/16"

Profile | Count

Wall 2

Cut 28x114
Profile | Count | Length 28x114

28X114
28x57 175 3/16" 28x114 16
28x114 175 3/16"

28x114 1831/16" Wall C

Profile | Count

28x114
28x114
28x114
28x114

Log Profiles

Profile \ Profile

28Xx57

G Log Profiles
Profile \ Profile

28x114

190417






